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Partnership

1. A, B and C enter into a partnership and their

shares are in the ratio 
1 1 1

: :
2 3 4

. After 2 months,

A withdraws half of his capital and after 10
months, a profit of Rs. 378 is divided among
them. What is B's share ?

A] B vkSj C ,d lk>snkjh esa ços'k djrs gSa vkSj muds

fgLls 
1 1 1

: :
2 3 4

 ds vuqikr esa gSaA 2 eghus ds ckn] A

viuh iwath dk vk/k fudky ysrk gS vkSj 10 eghus ds
ckn 378 #i;s ds ykHk esa ls B dk fgLlk D;k gSA
(a) 144 (b) 169

(c) 225 (d) 339

2. A, B, C started a business with their
investments in the ratio 1 : 3 : 5. After 4
months, A invested the same amount as before
and B as well as C withdrew half of their
investments. The ratio of their profits at the
end of the year is :

A, B, C us 1 % 3 % 5 ds vuqikr esa vius fuos'k ds lkFk
,d O;olk; 'kq: fd;kA 4 eghus ckn] A us igys dh rjg
gh fuos'k fd;k vkSj B vkSj C us vius fuos'k dk vk/k
okil ys fy;kA o"kZ ds var esa muds ykHk dk vuqikr gS%
(a) 1 : 2 : 3 (b) 3 : 4 : 15

(c) 3 : 5 : 10 (d) 5 : 6 : 10
3. A and B are partners in a business. A contributes

1

4
 of the capital for 15 months and B received

2

3
 of the profit. For how long B's money was

used ?

A vkSj B ,d O;olk; esa Hkkxhnkj gSaA A us 15 eghus ds

fy, iwath dk 
1

4
Hkkx yxk;k vkSj B us ykHk dk 

2

3
çkIr

fd;kA B dk iSlk fdrus le; rd bLrseky fd;k x;k\
(a) 3 months (b) 6 months

(c) 10 months (d) 12 months

4. A is a working and B is sleeping partners in a
business. A puts in Rs. 5000 and B puts in
Rs.6000. A receives 12.5% of the profit for
managing the business and the rest is divided
in proportion to their capital. What does each
get out of a profit of Rs. 880?

Partnership/lk>snkjh
( Practice Sheet With Solution)

A ,d O;olk; esa dk;Zjr gS vkSj B Lyhfiax ikVZuj gSA A
5000 #i;s Mkyrk gSA vkSj B 6000 #i;s Mkyrk gSA A dks
O;olk; ds çca/u ds fy, ykHk dk 12-5» çkIr gksrk gS
vkSj 'ks"k dks mudh iwath ds vuqikr esa foHkkftr fd;k
tkrk gSA 880 #i;s ds ykHk ls çR;sd dks D;k feyrk gS\
(a) 460, 420 (b) 480, 400

(c) 530, 350 (d) 550, 330

5. Radha began a business with Rs. 85,000. She

was joined afterwards by Shyam with Rs.

42,500. For how much period does Shyam join,

if the profits at the end of the year are divided

in the ratio of 3 : 1 ?

jk/k us 85]000 #i;s ds lkFk ,d O;olk; 'kq: fd;kA mlds
ckn ';ke us 42]500 :i;s ds lkFk Tokbu fd;kA ;fn o"kZ ds
var esa ykHk dks 3 % 1 ds vuqikr esa foHkkftr fd;k tkrk gS]
rks ';ke fdrus le; ds fy, 'kkfey gksrk gS\
(a) 4 months (b) 5 months

(c) 6 months (d) 8 months

6. A, B and C enter into a partnership with a

capital in which A's contribution is Rs. 10,000.

If out of a total profit of Rs. 1000, A gets Rs.

500 and B gets Rs. 300, then C's capital is :

A, B vkSj C iwath ds lkFk lk>snkjh esa ços'k djrs gSa
ftlesa A dk ;ksxnku 10]000 #i;s gSA ;fn 1000 #i;s ds
dqy ykHk esa ls A dk fgLlk 500 :i;s vkSj B dk fgLlk
300 #i;s gSA rks C dh iwath gS%
(a) 4000 (b) 5000

(c) 6000 (d) 7000

7. kiran and sushma began business with Rs.3000

and Rs.4000 after 8 months, kiran withdraws

Rs.1000 and sushma advances Rs.1000 more.

At the end of the year, their profits amounted

to Rs.630 find the share of kiran ?

fdj.k vkSj lq"kek us 3000 #i;s vkSj 4000 #i;s ds lkFk
dkjksckj 'kq: fd;k 8 eghus ckn fdj.k 1000 #i;s
fudkyrh gS vkSj lq"kek 1000 #i;s vkSj is'kxh nsrh gSA o"kZ
ds var esa] mudk ykHk 630 #i;s Fkk] fdj.k dk fgLlk
Kkr dhft;s\
(a) Rs. 240 (b) Rs. 75

(c) Rs. 125 (d) Rs. 354
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Partnership

8. A and B start a business, with A investing the
total capital of Rs.50000, on the condition
that B pays A interest @ 10% per annum on
his half of the capital. A is a working partner
and receives Rs.1500 per month from the total
profit and any profit remaining is equally shared
by both of them. At the end of the year, it
was found that the income of A is twice that
of B. Find the total profit for the year?

A vkSj B ,d O;olk; 'kq: djrs gSa] ftlesa A us 50000
#i;s dh dqy iwath dk fuos'k fd;k gS] bl 'krZ ij fd B
viuh iwath ds vk/s fgLls ij çfr o"kZ 10» C;kt dk
Hkqxrku djrk gSA A ,d dkedkth Hkkxhnkj gS vkSj dqy
ykHk ls 1500 #i;s çfr ekg çkIr djrk gS vkSj 'ks"k ykHk
nksuks a }kjk leku :i ls lk>k fd;k tkrk gSA o"kZ ds var
esa] ;g ik;k x;k fd A dh vk; B ls nksxquh gSA o"kZ ds
fy, dqy ykHk Kkr dhft;s\
(a) Rs. 39000 (b) Rs. 49000

(c) Rs. 59000 (d) Rs. 69000

9. Two partners investede Rs 1250 and Rs 850
respectively in a business. They distributed
60% of the profit equally and decide to
distribute the remaining 40% as the ratio of
their capitals. If one partner received Rs 30
more than the other, find the total profit?

nks Hkkxhnkjksa us ,d O;olk; esa Øe'k% 1250 #i;s vkSj
850 #i;s dk fuos'k fd;kA mUgksaus ykHk dk 60» leku
:i ls forfjr fd;k vkSj 'ks"k 40» dks viuh iwath ds
vuqikr ds :i esa forfjr djus dk fu.kZ; fy;kA ;fn ,d
Hkkxhnkj dks nwljs ls 30 #i;s vf/d çkIr gksrs gSa] rks dqy
ykHk Kkr dhft;s\
(a) 390.5 (b) 393.75

(c) 395 (d) 396

10. A starts business with Rs. 3500 and after 5
months, B joins with A as his partner. After a
year, the profit is divided in the ratio 2 : 3.
What is B's contribution in the capital?

A 3500 #i;s ds lkFk O;kikj 'kq: djrk gSA vkSj 5 eghus
ds ckn] B] A ds lkFk vius lkFkh ds :i esa 'kkfey gks
tkrk gSA ,d o"kZ ds ckn] ykHk dks 2 % 3 ds vuqikr esa
ckaVk tkrk gSA iwath esa B dk ;ksxnku fdruk gS\
(a) Rs. 7500 (b) Rs. 8000

(c) Rs. 8500 (d) Rs. 9000

11. A, B and C enter into a partnership in the

ratio  
7 4 6

: :
2 3 5

. After 4 months, A increases

his share by 50%. If the total profit at the
end of one year be Rs. 21600, then B's share
in the profit is :

A, B vkSj C 
7 4 6

: :
2 3 5

 ds vuqikr esa ,d lk>snkjh esa

ços'k djrs gSaA 4 eghus ckn] A vius fgLls esa 50» dh
o`f¼ djrk gSA ;fn ,d o"kZ ds var esa dqy ykHk #-
21600 gS] rks ykHk esa B dk fgLlk gS%
(a) Rs. 4000 (b) Rs. 6000

(c) Rs. 9000 (d) Rs. 3000

12. Three friends, P, Q and R started a partnership
business investing money in the ratio of 5 : 4 : 2
respectively for a period of 3 years. What is the
amount received by P as his share in the total
profit ?

rhu fe=kks a] P, Q vkSj R us 3 o"kZ dh vof/ ds fy,
Øe'k% 5 % 4 % 2 ds vuqikr esa /u fuos'k djds ,d
lk>snkjh O;olk; 'kq: fd;kA dqy ykHk esa mlds fgLls ds
:i esa P dks çkIr jkf'k fdruh gS\
A. Total amount invested in the business in

Rs. 22,000.

O;olk; esa fuos'k dh xbZ dqy jkf'k #- 22]000A

B. Profit earned at the end of 3 years is 
3

8
 of

the total investment.

3 o"kZ ds var esa vftZr ykHk dqy fuos'k dk 
3

8
 gSA

C. The average amount of profit earned per
year is Rs. 2750.

çfr o"kZ vftZr ykHk dh vkSlr jkf'k 2750 #i;s gSA
(a) Only c is sufficient

dsoy c i;kZIr gS
(b) Both a & b are sufficient

a vkSj b nksuks a i;kZIr gSa
(c) Both A & B not gives result

a vkSj b nksuks a ifj.kke ugha nsrs gSa
(d) None/dksbZ ugha

13. A and B entered into a partnership investing
Rs 13,000 and Rs 12,000 respectively. After
3 months, A withdrew Rs 5000 while B invested
Rs 5000 more, After 3 more months, C  joins
the business with a capital of Rs 21,000. The
share of B exceeds that of A, out of a total
profit of Rs 28,400 after one year by

A vkSj B us Øe'k% 13]000 :Ik;s vkSj 12]000 :Ik;s dk
fuos'k djds ,d lk>snkjh dhA 3 eghus ckn] A us 5000
#i;s okil ys fy, tcfd B us 5000 #i;s vkSj fuos'k
fd,] 3 vkSj eghuks a ds ckn] C 21]000 #i;s dh iwath ds
lkFk O;kikj esa 'kkfey gks x;kA ,d o"kZ ds ckn 28]400
#i;s ds dqy ykHk esa ls B dk fgLlk A ls vf/d gSA
(a) 5000 (b) 5200

(c) 3700 (d) 5400
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 14. Three friends had dinner at a restaurant. When

the bill was received, Akshitha paid 
2

3
 as much

as Veena paid and Veena paid 
1

2
 as much as

Lasya paid. What fraction of the bill did Veena
pay ?

rhu nksLrks a us ,d jsLVksjs aV esa fMuj fd;kA tc fcy çkIr

gqvk] rks vf{krk us ohuk ds Hkqxrku dk 
2

3
Hkqxrku fd;k

vkSj ohuk us ykL; ds Hkqxrku dk 
1

2
Hkqxrku fd;kA ohuk

us fcy ds fdrus Hkkx dk Hkqxrku fd;k\

(a)
11

3
(b)

2

13

(c)
3

11
(d)

13

4
15. Three milkmen rented a pasture. A grazed 24

cows for 4 months; B 10 cows for 6 months; C
56 cows for 5 months. If A's share of rent is
Rs. 960, find the total rent of the field?

rhu nwf/;ksa us ,d pkjkxkg fdjk, ij fy;kA A 4 eghus
rd 24 xk;ksa dks pjkrk_ B 10 xk; 6 eghus rd_ C 56
xk; 5 eghus rd pjkrk gSA ;fn A dk fdjk, dk fgLlk
960 :i;s gS rks •sr dk dqy fdjk;k Kkr djsa\
(a) 4530 (b) 4440
(c) 4360 (d) 4280

16. P, Q and R enter into a partnership in the
ratio 2 : 3 : 5. After 2 months, P increases his
share 20% and Q by 10%. If the total profit at
the end of one year is Rs 1,90,500, what amount
will 'R' receive at the end of year as share in
profit ?

P] Q vkSj R 2 % 3 % 5 ds vuqikr esa ,d lk>snkjh esa
ços'k djrs gSaA 2 eghus ds ckn] P vius fgLls esa 20» vkSj
Q esa 10» dh o`f¼ djrk gSA ;fn ,d o"kZ ds var esa dqy
ykHk 1]90]500 #i;s gS] rks ykHk esa fgLls ds :i esa ^R*
dks o"kZ ds var esa fdruh jkf'k çkIr gksxh\
(a) Rs. 90500 (b) Rs. 87500
(c) Rs. 88900 (d) Rs. 90000

17. Arun, Kamal and Vinay invested Rs.8000,
Rs.4000 and Rs. 8000 respectively in a
business. Arun left after six months. If after
eight months, there was a gain of Rs. 4005,
then what will be the share of Kamal?

v#.k] dey vkSj fou; us #-8000] #-4000 vkSj #-
8000 ,d O;olk; esa Øe'k% v#.k Ng eghus ckn pyk
x;kA ;fn vkB eghus ds ckn 4005 #i;s dk ykHk gksrk gSA
gS] rks dey dk fgLlk D;k gksxk\
(a) 830 (b) 860

(c) 890 (d) 900

18. A, B and C started a company where their initial

investments was in the ratio of 2:3:4. At the

end of 6 months, A invested an amount such

that his total capital became equal to B's initial

capital investment. If the annual profit of B

is Rs. 3000 then what is the total profit of

the company ?

A] B vkSj C us ,d daiuh 'kq: dh ftlesa mudk çkjafHkd
fuos'k 2 % 3 % 4 ds vuqikr esa FkkA 6 eghus ds var esa] A
us ,d jkf'k dk fuos'k bl çdkj fd;k fd mldh dqy
iwath B ds çkjafHkd iwath fuos'k ds cjkcj gks xbZA ;fn B
dk okf"kZd ykHk 3000 :i;s gS rks daiuh dk dqy ykHk
fdruk gS\
(a) Rs. 9500 (b) Rs. 10600

(c) Rs. 7500 (d) Rs. 8900

19. K and L start a business jointly. K invests

Rs.16000 for 8 months and L remains in the

business for 4 months. Out of the total profit

L claims 
2

7
th share. How much money is

contributed by L?

K vkSj L la;qÙkQ :i ls ,d O;olk; 'kq: djrs gSaA K 8
eghus ds fy, 16000 #i;s dk fuos'k djrk gS vkSj L 4

eghus ds fy, dkjksckj esa jgrk gSA dqy ykHk esa ls L 
2

7

fgLls dk nkok djrk gSA L }kjk fdruk iSlk fn;k tkrk gS\
(a) Rs. 13,204 (b) Rs. 14,521

(c) Rs. 12,800 (d) Rs. 15,000

20. A and B entered in a business by making

investment of Rs. 4000 & Rs. 5500 respectively.

After six months A & B withdrew Rs. 1000

and Rs. 1500 respectively and C joined them

with capital of Rs. 4x. If after one year and

three months C received Rs. 2250 as profit

share out of total profit of Rs. 12250, then

find investment of C?

A vkSj B us 4000 :i;s vkSj 5500 #i;s dk fuos'k djds
,d O;olk; fd;kA A vkSj B us Ng eghus ds ckn
Øe'k% 1000 #i;s vkSj 1500 :i;s fudkys vkSj 4x dh
iwath ds lkFk muds lkFk tqM+ x;kA ,d o"kZ rhu eghus ds
ckn C dks 2250 #i;s dk ykHk gqvk ;fn dqy ykHk
12250 :i;s gS] rks C dk fuos'k Kkr dhft;s\
(a) Rs. 3600 (b) Rs. 3200

(c) Rs. 4400 (d) Rs. 3000

21. A, B & C started a business and invested in

the ratio 7:6:5. Next Year, they increased their

investment by 25%, 20% and 15%, respectively.

In what ratio should profit earned only during

2ndyear be distributed?
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A, B vkSj C us ,d O;olk; 'kq: fd;k vkSj 7 % 6 % 5
ds vuqikr esa fuos'k fd;kA vxys o"kZ] mUgks aus vius fuos'k
esa Øe'k% 25»] 20» vkSj 15» dh o`f¼ dhA dsoy nwljs
o"kZ esa vftZr ykHk dks fdl vuqikr esa ck¡Vuk pkfg,\
(a) 155 : 144 : 175 (b) 155 : 124 : 95
(c) 135 : 147 : 152 (d) 175 : 144 : 115

22. A man who recently died left a sum of Rs.

3,90,000 to be divided among his wife, five
sons and four daughters. He directed that each
son should receive 3 times as much as each

daughter receives and that each daughter
receives and that each daughter should receive
twice as much as their mother receives. What

was the wife's share?

,d O;fÙkQ ftldh gky gh esa e`R;q gks xbZ] vius ihNs #-
3]90]000 mldh iRuh] ikap csVksa vkSj pkj csfV;ksa ds chp
bl izdkj ckaVs tkus FksA fd çR;sd iq=k dks mruk feys ftruk
çR;sd iq=kh dks çkIr gksrk gS mldk 3 xquk vkSj çR;sd iq=kh
dks çkIr gksrk gS vkSj çR;sd iq=kh dks mldh ek¡ dks çkIr gksus
okys dk nqxuk çkIr gksuk pkfg,A iRuh dk fgLlk D;k Fkk\
(a) Rs. 14,000 (b) Rs. 12,000
(c) Rs. 10,000 (d) Rs. 9,000

23. A sum of Rs 3170 is divided among X, Y and Z
such that if Rs 13, Rs 12 and Rs 18 will be
diminished from the shares of X, Y and Z

respectively, then their shares will be in the
ratio 20 : 18 : 21. What is the initial share (in
Rs) of Z?

3170 #i;s dh jkf'k dks X] Y vkSj Z esa bl çdkj ckaVk
tkrk gS fd ;fn X] Y vkSj Z ds 'ks;jks a esa ls Øe'k% 13
#i;s] 12 #i;s vkSj 18 #i;s de dj fn, tk,a] rks muds
fgLls 20 % 18 % 21- gks tk,xsaA Z dk çkjafHkd fgLlk (#
esa) D;k gS\
(a) 1131 (b) 1530
(c) 910 (d) 1350

24. A starts a cement trading business by investing
Rs 5 lakhs. After 2 months, B joins the business
by investing Rs 10 lakhs and then 4 months
after B joined C too joins them by investing
Rs 20 lakhs. 1 year after A started the business
they make Rs 3,50,000 in profit. What is B's
share of the profit (in Rs)?

A 5 yk• #i;s dk fuos'k djds ,d lhesaV O;kikj
O;olk; 'kq: djrk gSA 2 eghus ckn] B 10 yk• #i;s dk
fuos'k djds O;olk; esa 'kkfey gks tkrk gS vkSj fiQj B
ds 'kkfey gksus ds 4 eghus ckn C Hkh 20 yk• #i;s dk
fuos'k djds O;kikj esa 'kkfey gks tkrk gSA A ds O;olk;
'kq: djus ds 1 o"kZ ckn os 3]50]000 #i;s dk ykHk
dekrs gSaA ykHk esa B dk fgLlk fdruk gS (#i;s esa)\
(a) 75000 (b) 1,25,000
(c) 1,50,000 (d) 1,00,000

25. P and Q started a business by investing Rs

156000 and Rs 117000 respectively and their

time period of investment is same. If P's share

in the profit earned by them is Rs.12000, then

what is the total profit (in Rs) earned by both

of them together?

P vkSj Q us Øe'k% 156000 #i;s vkSj 117000 #i;s dk
fuos'k djds ,d O;olk; 'kq: fd;k vkSj mudh fuos'k
dh vof/ leku gSA ;fn muds }kjk vftZr ykHk esa P dk
fgLlk # 12000 gS] rks mu nksuks a }kjk ,d lkFk vftZr dqy
ykHk (#i;s esa) fdruk gS\
(a) 25000 (b) 17000

(c) 21000 (d) 18000

26. Three partners, A, B and C, started a business

by investing Rs.48,000 each. After 5 months,

A left the business; after 9 months, B left the

business; and after 12 months, C left the

business. If the total earned profit is Rs.5,850,

then the share of C is what percentage more

than that of B?

rhu lk>snkjksa A] B vkSj C us çR;sd 48]000 #i;s dk
fuos'k djds ,d O;olk; 'kq: fd;kA 5 eghus ckn] A us
O;olk; NksM+ fn;k_ 9 eghus ckn] B us O;olk; NksM+ fn;k_
vkSj 12 eghuksa ds ckn] C us O;olk; NksM+ fn;kA ;fn
dqy vftZr ykHk 5]850 #i;s gS] rks C dk fgLlk B ls
fdrus çfr'kr vf/d gS\

CRPF HCM 28/02/2023 (Shift - 01)

(a) 43% (b) 37%

(c)
1

33 %
3

(d)
1

39 %
3

27. A and B are partners in a business. A

contributes 
1

5
th of the capital for 15 months

and B received 
2

3
of the profit. For how many

months was B's money invested in the

business?

A vkSj B ,d O;olk; esa Hkkxhnkj gSaA A 15 eghus ds fy,

iwath dk 
1

5
oka ;ksxnku nsrk gS vkSj B ykHk dk 

2

3
çkIr

djrk gSA B dk /u O;olk; esa fdrus eghuksa ds fy,
fuosf'kr Fkk\

CRPF HCM 11/03/2023 (Shift - 02)

(a)
1

7
2

(b) 8

(c) 7 (d)
1

6
2
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SOLUTION
1. (a)

    A    B     C

   
1 1 1

       
2 3 4

2   Months 6  :  4  :  3

10 Months 3  :  4  :  3

A's Profit = 6 × 2 + 3 × 10 = 42

B's Profit = 12 × 4 = 48

C's Profit = 12 × 3 = 36

Profit ratio 42 : 48 : 36

    21 : 24 : 18

A.T.Q

63  378

378
24 24

63
  = 144

2. (d)

  A    B      C

4 Months 1  :  3  :   5

8 Months 2  : 
3

2
  :  

5

2

A's Profit = 4 × 1 + 2 × 8 = 20

B's Profit = 3 × 4 + 
3

2
× 8 = 24

C's Profit = 5 × 4 + 
5

2
 × 8 = 40

Profit ratio 20 : 24 :  40

    5  :   6  :  10

3. (c)

          A                     B

1 3
15 Months       t

4 4

1 2
Profit                     

3 3

   
       
   

A.T.Q

                  A       B

 1   :   3

Profit          1   :   2 

2
Time           1   :  

3

3 :   2           

tI

      

nve

 

s

 

tmen

3  15 Months
2  10 Months

4. (a)
  A             B
5000 6000
   5      :     6

1
12.5% =

8

Let, Total profit = 8 units

8  880

1  110

Rest profit = 880 – 110 = 770

A.T.Q

11  770

5  350

6  420

 A's earning = 350 + 110

        = 460

B's Earning     = 420

5. (d)

                R             S

Invest   85,000     42,500

                2       :      1

Profit       3       :      1

3 1Time                     
2 1

                3      :      2

3  12 Months

2   8  Months

1.(a) 2.(d) 3.(c) 4.(a) 5.(d) 6.(a) 7.(a) 8.(c) 9.(b) 10.(d)

11.(a) 12.(b) 13.(b) 14.(c) 15.(c) 16.(d) 17.(c) 18.(a) 19.(c) 20.(d)

21.(d) 22.(c) 23.(a) 24.(b) 25.(c) 26.(c) 27.(a)
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6. (a)
A   B  C

Invest 10,000     __       __
Profit    500       300      200

5     :    3    :    2
5  10,000
2  4,000

7. (a)
     K          S

8 Months  3,000  :   4,000 = 3 : 4
4 Months  2,000  :   5,000 = 2 : 5
Kisan's profit = 24 + 8 = 32
Sushma's profit = 32 + 20 = 52
Profit 32    52

        8  :  13
A.T.Q
21  630
 8  240

8. (c)
A B

50,000   __

Interest received by 10 50,000
A From B =

100 2


 = Rs. 2,500
Amount by being working partner = 1,500 × 12

       = 18,000
 Total income of A = 2,500 + 18,000 + x
Income of A = 2 × income of B
 2,500 + 18,000 + x = 2x
x = 20,500
 Total profit = 2x + 18,000

        = 2 (20,500) + 18,000 = 59,000
9. (b)

A   B
Invest  1250 850

25    :   17
Let total profit be 10

Profit 25 17
3 4 : 3 4

42 42
   

113 97
= :

21 21

Difference 
113 97 16

–
25 21 21



16

21
 30

So profit (10 unit) = 
630

10
16

  = 393.75

10. (d)

                    A         B

   3500  :   __

7 Months   3500  :   B 
     2  :  3          

s

o

5

t

 

f

M

 

o

 r i

nth

P

A.T.Q

3500 12 2
=

7 B 3





B = 9,000
11. (a)

A     B     C

Invest   
7 4 6

        
2 3 5

A's Profit 
7 7 7

= 4 8
2 2 4

 
     
 

 = 56
B's Profit = 16

C's Profit 
72

=
5

A.T.Q
56 + 16 + 14.4  21,600

21,600
16 16

86.4
 

= 4,000
12. (b)

P      Q     R
5      4        2
A. 11  22,000

  5  10,000
 A invested Rs. 10,000

B. Total profit 
3

= 22,000
8


 Profit of 
3

A = 10,000
8
  = 3750

 Both a and b are sufficient enough to find

the share of P in total profit.

13. (b)

     A         B            C

13,000   12,000    21,000  = 13 : 12 : 21

3 Month     13          12          __

3 Month      8           17          __

6 Month      8           17         21

Profit (39 + 24 + 48) (36 + 51 + 102) (21 × 6)

111     189  126

 37      63   42

28400
(A – B) = 26

142
  = 5200

14. (c)

A.T.Q

A      V    L

2      3       6

 Vena's potion 
3

=
11
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15. (c)

             A       B       C

Cows     24     10     56

Time     4        6       5   

           96      60    280

A.T.Q
96  960
436  4360

16 (d)

                      P        Q        R

2  Months     200     300    500

10 Months    240     330    500 

P's Profit = 2800
Q's Profit = 3900
R's Profit = 6000
12700  190500

12,700 1,90,500

1,90,500
6,000 6,000

12,700



 

        = 90,000
17. (c)

                      A          K          V

                  8,000     4,000    8,000

6  Months      2     :      1     :      2

2  Months      0     :      1     :      2  

Profit            12     :       8    :     16 

                 3     :      2     :     4

9 4005

4005
2 2

9



     890

18. (a)

                    A            B           C

6 Months      2     :      3     :      4

6 Months      3     :      3     :      4  

                :         :     Profit 30 36 48 

                    5     :      6      :      8

  6  3,000
19  9,500

19. (c)

                    K           L

8 Months  16,000       __

4 Months  0                L  

Profit            5            2

A.T.Q

1,28,000 5
=

L 4 2

 10 L = 1,28,000
      L = 12,800

20. (d)

      A    B       C

6 Months  4,000 5,500

9 Months  3,000 4,000       4x

A's Share = 51,000

B's Share = 69,000

C's Share = 36x

         A     :        B      :      C

Profit ratio  8500    :    11500  :     6x

A.T.Q

6x
12,250 = 2,250

20,000 6x




 x = 750

 4x = 3,000

21. (d)

  A     B          C

I.  year 700   :   600     :    500

II. year 875   :   720     :    575

Profit 175   :   144     :    115

22. (c)

Wife's share = x

Each son's share = y

Each daughter's share = z

A.T.Q

y = 3z .......(1) and z = 2x ........(2)

Also,

x + 5y + 4z = 3,90,000  .........(3)

Solving (1), (2) and (3)

x = 10,000

 Mother receives Rs. 10,000

23. (a)

Given, x + y + z = 3170 .........(1)

Let, x = 20k, y = 18k, z = 21k

Actual share after diminishing:-

x – 13, y – 12 and z – 18 ..........(2)

Put (2) in (1)

(x – 13) + (y – 12) + (z – 18) = 20k + 18k + 21k

 (x + y + z) – (13 + 12 + 18) = 59k

 3170 – 43 = 59k

3127
 k = = 53

59


 Initial share with z = 21k + 18  = 1131
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24. (b)
Profit A = 5 × 12 = 60

B = 10 × 10 = 100
C = 20 × 6 = 120
A B C

Profit 3    :    5   :    6
A.T.Q
14  3,50,000
5  1,25,000

25. (c)
      P       Q
1,56,000 1,17,000
    =   4       :      3
A.T.Q
4  12,000
7  21,000

26. (c)

                    A            B           C

5 Months      1     :      1     :      1

4 Months      0     :      1     :      1

3 Months      0     :      0     :      1  

               :           5         :      9  12 
A.T.Q

12 – 9 1
100 = 33 %

9 3


27. (a)
A    B

       (1 × 15) (4 × t)
Profit     15    4t

1    :     2
A.T.Q

15 1
=

4t 2

  
1

t = 7 Months
2
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